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1. Which of the following is not characteristic of preventive maintenance in JIT systems?
A) maintaining equipment in good operating condition B) replacing parts when they are wormn but before they
fail C) workers maintaining their own equipment D) eliminating supplies of spare parts to reduce capital
investment  E) perceiving breakdowns as an opportunity for improvement

2. The term that refers to the automatic detection of defects is:
A) kaizen B) kanban C) autonomation D)  automation E) 100% inspection

3. The MRP input stating which end items are to be produced, when they are needed, and what quantities are needed, is
the:
A) master schedule B) bill-of-materials C) inventory-records
D) assembly-time chart E) net-requirements chart

4. In MRP, under lot-for-lot ordering, "planned-order receipts" are:
A) identical to "scheduled receipts” B) identical to "planned-order releases"
C) open orders (that is, ordered before the first time bucket, but not delivered yet)
D) "grossrequirements" E) available to promise inventory

5. Which of the following would not indicate an out-of-control process?
A) values consistently above the center line B)  values which move in an upward trend
C) values which "bounce around" above and below the center line
D) values which move in a downward trend E)  none of the above

6. A point which is outside of the lower control limit on an R-chart: 2
A) is an indication that no cause of variation is present
B) should be ignored because it signifies better than average quality 4
C) should be investigated because an assignable cause of variation might be present
D) should be ignored unless another point is outside that limit i
E) isimpossible since the lower limit is always zero

7. Which of the following is not a strategy to manage service capacity? |
A) hiring extra workers B) backordering C) pricing and promotion
D) parttime workers E)  subcontracting

8. Aggregate planners attempt to balance:
A) demand and inventories B) demand and costs C)capacity and inventories
D) capacity and costs E)  capacity and demand

9. In general, work-in-process inventory is for a process layout, and for a product layout.
A) small, large B)  large,small C)large, large D) small, small E)none of the above

10. Which of the following statements concerning cellular layouts is not true?
A) The layout of machines within each cell resembles a small assembly line.
B) Cellular layouts attempt to combine the flexibility of a product layout with the efficiency of a process layout.
C) Cellular layouts group dissimilar machines into work centers.
D) Cellular layouts process families of parts with similar shapes or processing requirements.
E) none of the above

11. The cost of achieving good quality falls into which of the following categories?
A) prevention and internal failure costs B) prevention and external failure costs
C) prevention and appraisal costs D) appraisal and internal failure costs E) none of the above

12. Which of the following processes is not in the Deming four stage process?
A) beresponsive B) plan C) act D) study/check E)none of the above

13. In “crashing” a project, a manager will generally focus on activities which:
A) are not on the critical path  B) are the least costly to crash
C) are costly to crash and are on the critical path D)  are on the critical path and are the least costly to crash
E) are the easiest to crash
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The data in the table below represent the number of defects detected in a series of 15 samples. Each sample
contained 4 units.

Sample | # Defective  Sample # Defective

1 26 9 6
2 23 10 2
3 32 11 5
4 35 12 16
5 25 13 5
6 32 14 9
7 20 15 12
8 0

a. Usm0 3-sigma limits, what are the UCL (Upper Control Limit) and LCL (Lower Control Limit) for the c-chart?
a) (FELHHEaR)

b. For this c-chart, what conclusion can be drawn? (2 %)
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East Texas Seasonings is preparing to build one processing center to serve its four sources of seasonings. The four
source locations are at coordinates shown below. Also, the volume from each source is provided.

a. What is the center of gravity? (3 %) (F B HtHER)
b. What is the rectilinear distance from center to Athens? (3 4#) (3B H3rH88)

X-coordinate Y-coordinate Volume
Athens, Texas 30 40 100
Beaumont, Texas 20 15 400
Carthage, Texas 55 60 150
Denton, Texas 20 | 70 250
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